1.

ReTFAN BHE FEZE A 01
ROMNCEZ K. (SH40®, A2, B35 301, C b5 97)

(1) —HDEZP210cm DIESE ABCD 8% %. CF =3cm D & ¥, ADFE Oz RS k.

(2)  IEAHWABCD 3% 0, M M I3 CD o Tth 3. ADEM =4cm?D & ¥, AACM DRI % K k.
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2.

ROMNICEZ L. (SHk40F, A2, B35 308, C#s597)

(1) 1EN ABCD 28%%. ED = 6cm, AF =8cm @ & ¥, ABDF DHifi%Z R X.

E

F
A D
B C

(2) EAABCD 2% ), M I3 BC OHETHZ. ABCE =6cm?>D & &, AAMC OHEZRD X.
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1.

REFAN EE SEZR SE 01 REHRS

ROMNCEZ K. (SH40®, A2, B35 301, C b5 97)

P Q
: * FTOSHER
@® APAB = AQAB R, mEHhELV
R lL//m & . N
@ APAR = AQBR (§%0F) " © OMiZ — ARAB
n il Yol % R I B A AT
YWEFOL EEIXHEEDE L »
(1) —EOEZH310cm DIES ABCD 283% %. CF = 3cm @ & ¥, ADFE Ofifi%z Ko k.
A D K IERRRIE O FAR T = AT
RO7Z-W=ABLERILHELZ bO=AKEZ 5.
ADFE=AACF
F = CF x AD x %
_ 1 2

B . - f3><10><2715(cm)

(2) IEAABCD 2% ), M I3E CD OH i TH 5. ADEM =4cm?D & E, AACM DfifEZ KD X.

K EAR I O AT = AT

A D
ROOCEMAMIPERUEBLZ D O>ZABEZS.
AB //MC &b,
M
AACM = ABCM
E
= ABCE + AECM
B C
= ADCE + ADEM
= 2ADEM + ADEM

=3ADEM =3 x4 =12 (cm?)
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2.

ROMNICEZ L. (SHk40F, A2, B35 308, C#s597)

(1) 1EN ABCD 28%%. ED = 6cm, AF =8cm @ & ¥, ABDF DHifi%Z R X.

E
K IERR T O HA 1L = AT
P ROZWE=APERALCHELZ D OD=AEEZ 5.
A D
ABDF=AEAF
— AD x ED x %
:8x6>«%:24(an%
B C

(2) IEAABCD 2% 0, fiM I3 BC OHETH 5. ABCE =6cm?>D & &, AAMC OifEZRD k.

K EARXTE D HEA L =T

A b ROLCEABERLCHEZ S O=MAFEZS.
AD //MC &1,
E AAMC = ADMC
= ADEC + AEMC
B M C

— ABCE + %ABCE

1

X 6 =9 (cm?)
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